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,
A : cell terminals

B : null point meter

C : fuse holder

D : mains indicator

E : on/off switch

F : bridge balance control

G : range selector
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Volume  NaOH Volume NaOH

(a) (b)

Volume HCI
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Volume NaOH
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CL2  c2= - -
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(1-a)

1 3 4 CH 334 (H)





1 3 6 CH 334 (H)



ak



d%lfl3  NaOH  (XIR.) L x lo*(n-')

2.6 2.9

3.0 3.6

3.5 4.6

4.0 5.6

4.5 6.4

5.0 7.4

5.5 8.4

6.0 9.2

6.5 10 .o

7 .o 10.8

7.5 11.8

8.0 12.0

8.5 13.0

9 .o 13.0

9.5 14.0

10 .o 15.0

1 3 8 CH 334 (HI



c

CH334 (H)

t
Y

1 2 3 4 5 6 7 8 9 10

1 3 9



F

i

L x 1050-2
-1

)

0 .o 5.3

0 . 2 5.4

0 . 4 5.5

0 . 6 5.7

0 . 8 5 . 9

1 .o 6.1

1.2 6.5

1.4 7.0

1 .6 8.2

1.8 10 .I

2.0 12.0

2.2 14.5

2.4 17.5

2.6 20 .I

3.0 28.7

3.5 40 .o

4 .o 51.0

4.5 62.0

5.0 74.0

5.5 85.5

6.0 95 .o

6.5 104.0

7.0 115.0

1.5 126.0

8 .o 137.0
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3 .  nla~an%m~l%a=al~~a”aeei79  NaOH  n”afl  HOAc

LhltlS  NaOH (8161.)

0 .o

0 . 2

0 . 4

0 . 6

0 .a

1 .o

1 .2

1 .4

1 .6

1 .8

2 .o

2 . 2

2 . 4

2 . 6

2 . 8

3 .o

3 . 2

3 . 4

3 . 6

3 . 8

4 .o

4 . 5

5 .o

.

L x 104d,

4 . 4

4 . 2

4.1

3 . 9

3 . 7

3 . 6

3 . 3

3.1

3 .o

2 . 8

2 . 7

2 . 5

2 . 3

2.1

1 . 9

1 .8

1 .7

1 .7

1 . 7

1 . 7

1 . l

1 .7

1 . 7  .
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= 0.19 x 2.2 = o  o,7 M
25
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M =
HOAc

0.19  x 2-o = 0 o,y M
25

M
NaOH

o-14  x 3-l = 0 1),-/ M= -
25

C 0 .015= --- ___ x 25100, = 0 .00375 M

= 3.75 x 1O-3 M

= 5 . 3  x 1o-5
i-l -1

1000  x 5 . 3 1 0 -5A x x 1 5=-- _--.I--
3,75 x 10

- 3

= 21 .2
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2 1 . 2
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390. 7 1

= 5 . 4  x 1 0 - 2

CH,COOH  f H,O F==? CH,COO-  + Hz0

(1-a) c cc cc

z
K
a = xl,

= (5.4 x 10-2) x 3.75 x ,o-3
1

1 - 5.4 x 1o-2

= 1.2 x 1o-5

x 10
-5

.

CH 334 (H)
1 4 5



Ag+ + 2 a- F=====2 Ag(CN);

Ag(CNj;  t  A g
+

G======  Ag, (CN),
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